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500 5 Rk HIEE MItERATE=—FRF 35.667
501 TR [ FHEERKX FERT E SN ENIE FE R 43.500
502 HEZE IAE BRINENEFR 41.000
503 IR E=PIES REME LR 48.667
504 B =) AT EMME A ZERGERX 46.833
505 1 WmES 18 Eé*’*“—#% 43.333
506 £5H AEIa ZhmELRE 36.167
507 £Efid dt5Em RIS XFE_WNEFRZE 48.000
508 ﬁ’iiﬁ Aha BMNHE P 438.333
509 RERAE ERUN) KETHRESHFE 39.333
510 i Iha BRI eAFHERSE 43.833
511 S8 P IAhEmBE—HhE 45500
512 £ 1 R E WERESEFERT/\FhZF 47833
513 X5 WZRE WZREHBE —F=% 46.333
514 S HfH AIE TRHEE 50.000
515 &X1T AT MMNERF 2T RERX 45.667
516 SR PNk REEF—HF 38.500
517 £ 0K S IharL EH SRFE 44.833
518 EFM R LZREEBE_FRZF 47.333
519 &3 Aha IhaEELRE 38.667
520 &1 5 [ HEERKX BErmaeTredhE 45.000
521 FH/NE txETd TEtHEAZHEFRZ 46.000
522 =1=M WLZRE FTmE—HE 45.000
523 =7z dtEm JEEZHI01H KD 43.500
524 TEi SRR KB SN EIE NG F R 48.167
525 BIKE yIdEE /Tjtéf‘ﬂﬂ%ﬁ%—m—?— 42.167
526 B NX ENIA BIRETE—FFK 41.333
527 BREEE STEE KBNS ENE NG A 43.000
528 BT yIdEE TSR R O T EUX BERESRAFE 44.333
529 LR Hia HRgfTEXFEFE 44833
530 L dtEm tHEIMEAFHNESXEFF 45,500
531 L2E R E UWZREHBE —F=% 44.500
532 L2t tx=H EEmEL=HF 43.833
533 Lo IAE BRI eAFHERZE 46.333
534 FLAESF e SEEHE/N\hE 46.833
535 LS R E LWREEEE-F=*F 44.167
536 LUE dEE HB#EB M 5A L A= 38.333
537 ILE= ) BRI AFHERZE 39.833
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538 EHR [ R8 I MHEERE 48.500
539 & SRR KBNS ENE NG A 47.833
540 RS R WHNHE = hZE 38.167
541 LN [ PHEREX BTrmE_FE 45500
542 i iE 0 XED FORZFR AR R XE—HhZ 44,500
543 00 [ R LZREEBERT/\FE 37.500
544 BREE PN ) ZREAFHEFFERFR 48.833
545 EAK TS KEH L FZR 47.000
546 B 5 WwmEs EEEERTE—HF 47,667
547 BN AIA AT EVUNE — = 438.333
548 BXRE dtEm tEImERF IR EFE 41.333
549 = ERUN) T E—aRPE 44.667
550 RER tx=T EtRIBeXZHELRFE 46.833
551 BRIS e mEmIEEER (AAHRX) 36.667
552 Eaei] t=H EtEFE—AR—rHF 43.667
553 B0 IAE TIAaBpM S 47.000
554 Z38 R TN i 46.167
555 Z Kl SRR BETeHY 36.333
556 B SRR KBNS ENE NG A 38.333
557 =1E K XED RETE—BFF 40.000
558 =Y txEH bR T PRI S EIE R 50.000
559 EER HER DA s 45.333
560 211 dt5Em Hal e XZHEFR S 45333
561 IR NEET=h=l BEmE Rz 46.500
562 ZFEM BN KEHEINEIBFK 38.167
563 TE— dtEm tEHE—0O—rHF 49.167
564 TR [ PERERX [ AETTE =T AFPFZCIERKX) 44.833
565 B P UTR HETE _SRTF 45500
566 FEB [ PHERSEKX EM TR R 42833
567 =N ZHEa AL RE 44333
568 ESC i B A X 70 3L B e X R = R 2 37.167
569 Bt UTR UBHARLF AT SR E 47.000
570 =HER EPIES PRER T SEIE SN E 1B AR 44.167
571 e ok R SH R P KB R4 B R 40.333
572 ot HIE TNT TSR F 453833
573 Eat REEI=h=l SRRZEIThE— 47.833
574 Bt UTE KiETEMNS K E 48.500
575 =5% RS KETEHLRFER 47.500
576 et HEE MEEK P mE—FRE 42833
577 ESE ] E=PIES PRER T SEIE SN E 1B AR 47.667
578 B =LA =NE ItFEImEAFRHEREFE 49.167
579 FLH dt5Em EtHEARZHEFRZF 41.667
580 EEaL) Urea KETLLES KT F 44.167
581 ZEK =) AT R R 46.833
582 ={ER HER BETEDREHE—FF 45500
583 EXED UTR FILE A ZRIBERKX 41,000
584 ER HER HRABSREE—FHF 35.167
585 EZETN dt5Em IEtEmREFRE 46.167
586 ZEW D) A BRESHERE 39.667
587 EXEN [ &8 R HS R RS 42333
588 =EH dt=H JExH=E 50.000
589 ={E1E dt=H IR AFHELEF S 47.000
590 TES tx=H JEFINENE K F M B INENE 46.833
591 EXES EPIES TN TEEINEEFER 46.667
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592 B tx=H EtFETEEXESFE _F2 44.833
593 Bt LA LT ALK 46.000
594 FTEX AIE XBEME—HF 38.333
595 B dEE ARENEEER 48.833
596 =iz HOIE A IE =P 42.500
597 %_-/%ﬁu RS KamEANFRE 48.333
598 FTRE Aha BRI AFHERSE 46.833
599 =R= dtEm jta‘rﬁ**—wL = 40.833
600 FRE HHIEE HONIMNEEFAR 50.000
601 TRIE ics HoX T g %‘é&tlﬂ‘;—‘é 42833
602 %_‘ﬂf% SRR KM SN EIE NG F R 42833
603 FoE REEI=h=l B mHRMmE S 45167
604 =RE dt=H tEmEMARZE 41.500
605 FWE e MEEFE—FRF 44.000
606 =i dEE 1%/3?5”*_—1—/\'43% 37.000
607 =Xk R E IrE+/\Fx 38.667
608 EXE REEI=h=l E;‘%léd\ﬁim? 39.000
609 FHZ LZRE WEREEEFERT/\FRZE 46.167
610 FHHF UTE KETEPHSRFE 438.833
611 Z=KBH dtEm EEHmEMFE 48.000
612 ZRFE e SEmEEFE 46.333
613 BTN dEE HB#EB T 5A L A= 40.833
614 FEEH LR ERRBEAZHREFZF 42833
615 {3 WLZRE LWREEEE-HF=F 38.833
616 FHeF EPIES AEREH /\—F 44.667
617 Bl EKT ERTAREFZF 33.167
618 FIHG HEE k/l‘FﬁﬁE%LﬁPéﬁ 47.000
619 E=LE WERE RETHANE—FhZE 45333
620 250 E=PIES BAESTH SRR ANEIE R 42.833
621 B Z2B/a fEhE—RE 46.667
622 MR S AR mRERARS 45167
623 FER dtsEm HaEm e ARFHERE 41.333
624 =HE R Kibm @R 45333
625 ey bR JJEIE R SEIS = 48.000
626 Bt RS AR mRERARS 47.000
627 B UTR ST+ 39.833
628 Z=HE D) BERhmERBE 45167
629 e AEIa BEmE—FHF 471.000
630 FIhZF Ahra IhasHARE 40.000
631 FEIK AEIa HAImE—SRFF 38.833
632 EdoY dtEm FEARXKFHNEHRZ 43.500
633 BN CREEgs MEXBEBANFHEFRE 47.167
634 TEE &S EBmE "R 47.333
635 BN SRR KBNS ENE NG A 45333
636 EPND BN MMEmE—SkP=s 39.333
637 LR L&D EESNEEBERFENERIZERE 43.667
638 EIEES R E ?fr'eé‘rﬁim%% = 46.167
639 e BB HRE T8 —Fh=¢ 43.333
640 =EA Bl ZEBTHE—FF 46.667
641 B JEXTH IEtEHIMYXE—F = 40.833
642 3K WZRE WZRIPSERFHER S 46.333
643 ESET Hia =MHEER+/\hE (B=HK—F) 40.000
644 =T R E BEmE—RE 40.667
645 =48 WERE I —Fh= 42333
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646 FEEM HIEE iﬁﬂjtyk‘;-‘éwﬁﬁlﬂ#c 471.000
647 FiE R E LWEREERE = 45833
648 EXRS dt5Em jta/ExyL%’*EP%é 45333
649 FHE [ PHEREX ErmaeTredhE 42.000
650 EJNA HEE KA EM R = 42333
651 FRE R e AZMEF S 46.667
652 TR REEI=h=l SBIREEHE —H=F 32.167
653 ES dt5Em ERIMSeXFHEFR 49.167
654 ZEx N PN P: ke 45667
655 ZE 1Y WZRE ENTE—FF 44.500
656 FETE [ PHEREX BMTrmE_fZF 48.500
657 FES Eﬁﬁal o B e X b e 2 43.833
658 FEM T8 HERTE_FE 45833
659 F st /Ijj = A BEIESRkEF 48.500
660 =—H tx=Td ItRHE—O0—mH% 42 500
661 FT—1IK E=m tEmE AR 46.167
662 FE= dt=H EtEmE+=F=F 48.000
663 BN b= IR KFMERF 44.667
664 EL a0 [ &8 FllL s 42.500
665 TR dtsEm qﬂleEk#ﬁE#ﬂ%‘é 40.500
666 ES0 [ &8 R OEABEEAB AP 46.333
667 E Y] M TREE—HE 37.000
668 B PN jt?%ll.: AZEEARNEINEIEFR 42.167
669 F L dt5Em tEARFHEFRZ 38.333
670 FIZR ZHa ?%Sz—é EIEHE—hE 42167
671 FFE tx=T EtRITVXKEREFE 39.667
672 = R BRI E - 43.333
673 F=FH S IhraEEhs 38.000
674 FPE dtsEm FEARKXFHNEHRZ 45833
675 FTPHE WZRE FrmaRMX B 42333
676 FTWE [ &R EX EMT E R INEIE R 39.667
677 FWEE PIES @Jlléﬁkﬁbﬁfﬁéf}ﬁ#—} 42.333
678 R Aha ERhELRF 46.167
679 B PNk AEFTAEE—FZF 45167
680 Bk BEE BRI 45,500
681 B HEE WMNHE—FR= 40.167
682 E IE S FERZ 46.167
683 B M ;‘ﬁﬁﬁajﬂﬂij(ﬁqﬂﬁ,,%,ﬁﬂqﬂq_ 44500
684 B IS KETHEHBFER 48.500
685 THE BN KERIDAEEFRK 46.500
686 B bR STIEEENEE R 45333
687 EDIRE )& EEFEZIHEEFEAENETR S 45333
688 ES i dtEm EtEmE—Lt—H=F 46.500
689 TER REEI=h=l A SRS mE Rz 35.500
690 TR HOIE AIXFHER S 44.667
691 FEX bR WS E =% CuJtHBERSNENE ) 45.000
692 T PR EE AN T AN FARL 45167
693 Bk dt5Em JEEZFH101H KR 40.333
694 E054 EER=) i b 7K = 44.167
695 AL HOIE AT RIS RS 438.333
696 FER Z=IES M) ERERFE 44.667
697 B BN EM%‘%&H&-_# 42 500
698 FER dt=H EtEmE+RFRE 50.000
699 EF5 tx=H ItmmE_+FhF 47.667
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700 E E=PIES BRERT L INENE R (FIX) 48.000
701 B tx=H HaE e AFZMEFF 46.667
702 F+H PN FEME—HF 49,500
703 %_Eif%ﬁ ST KBNS ENE NG AR 46.500
704 TR LR HIEERELEhE 41.667
705 e ERUN) KEMXLEHE 45.167
706 [N EB-1E 258 E=m tFEINEERZHEFRE 50.000
707 2RI Z8a EAE—7x/\ 41.333
708 LAY dtEm HaEPEAFHERE 46.667
709 ZEX WZRE LWZREMEE—F=F 47.167
710 PRE bR REFTERELEHZF 48.167
711 245 JExH dEEHmE -+ H 43.500
712 ZiE S £ R P R 44.500
713 2oa A KETE—HF 42333
714 PEE XEH KETEN+—FF 46.333
715 ZKRE dtEm FEARAXFHEFRFBMNRX 49.167
716 PEIK EE BHNTEELSEFF 50.000
717 P JE=H IEETERTFRFE 48.833
718 2xe E=m EtEAZHEFRZ 45.000
719 ZIEF R e AZMEF S 45667
720 ZER dtsEm It EAFHERZ 46.000
721 Py Urea AEE T XKZHESRPF 47.333
722 BEHE dtsEm IEEXFHERZF 43.667
723 BEXIR R E FETHAE—FZF 44.500
724 MEJ SMNE HETUULXE—5RFF 35.500
725 nERE [ &8 R ZIUJ th = 47667
726 MNEER R E LWEREERE = 48.167
727 NE B Ig AR [ﬁ,’i b= 46.000
728 MK dtEm tEmE =R 45833
729 -mﬂﬁ Z8a T Th & — R 40.167
730 MEA bR = — R 48.000
731 MH= S IAEBMNAE 46.167
732 MRATUME WERE LZREERETLHE 47.667
733 R jt??ﬁ jtﬁks‘cm B 43.333
734 X L2 ﬁ;lé ETELEFZRR 46.500
735 X E ZE TA l_T-é‘?L%Amﬁé 44.500
736 XIS UJEé MR T E = PR 47.333
737 Uk tmm JEETHERFE 45.500
738 X1 P dt=H IEEHEREHRFE 45.167
739 X {£ IhE LA E MNP AR 50.000
740 X 7 7R WRE HEFERERPF 41.333
741 X e B XEH PN rﬁ%z%ﬁk%—ﬁlﬂ‘%‘é 46.667
742 X 2R LR ERRBEAZREFZF 42,000
743 X & 5 CREEgs MZeHFF 47.000
744 X ZEH BRiR & ELRHHX SR 42 500
745 X B TR BN EMEL R 45333
746 XIEE Hia it KRZMERZ 39.333
747 Xl 8 B =MNE A BE R A 34.333
748 FIPNE] JE=H JEFOCX = 34.167
749 XGEIIE JEERH EtRIBeXZE_HWEFZE 46.833
750 X AE CREEgs mEmaXHE 471.000
751 X {EE R E LWEREERE—HZF 40.667
752 X dEE ElTE—HF 35.833
753 EE tx=H IEFEMEMA KR F LI R P EER 46.333
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754 X =& [ &8 RYIKFHEF = 45.167
755 X Z= 1 JE=H b i?; t—mh 47.500
756 N|ZZ Jt=H JItEHE—N/NFFE 42167
757 Xl 5 7 b= EEZHE—AAHFE 48.833
758 XI5 X JEEH EtEXZEHREFE 41.167
759 XI5 3 LR HEME—FF 39.833
760 X NG, b= EETHE=FHRF 46.667
761 XI| B tx=T dEEm RIIHRE 45.833
762 X & 74 tx=H FEARXZEHNEFESK 44.167
763 X122k Bl It EEMEE —FhF 39.167
764 X1 REEI=h=l BITEARE 50.000
765 X Jh B UJE—é KBS LG FR 44.833
766 X3 TT ERUN) A E oL 41.000
767 X IE 5% PIES PRER T SEIE SN E 1B AR 50.000
768 X T2 M?Eé KEME—FE 47.667
769 ET R E LWEREESERT/\HZ 49.500
770 ES R E LWREERE_HZF 47.167
771 X E S IheEMNSRAFE 47.333
772 X)7E R ENIA BIRETE=FFK 46.833
773 X&E17 t5Em tEmE AR 47.167
774 X TR e Ea X Ek%bfﬁ SEINEEFR 44833
775 X 4 52 JEEH SiEXZMERF 42.167
776 X = :H:T?Tﬁ?%’—O—EPf}"- 47833
777 X B )& BAETH SRR ANEIE R 43.667
778 PUE=Eit dtEm FEARKXFHNERZ 44.167
779 NUE =R e NARME —FFR 38.500
780 ES iER BELUmE—FHEF 42.500
781 XA IR Bt XEEEEANERTE 45.000
782 X A% ST NN a5 45500
783 XIERIA R HERKP T SLR P& 42167
784 X BRI WZRE AR T & — R 42 667
785 X EF X AR TETERX pREP S 47.500
786 X1 i dtsEm EEmEL=HF 45667
787 XI55 R LZREERZH 44.333
788 X1 7K WERE UJ?Eé‘?L%AEP Ea 453833
789 SIES = b= :EJ# 45,000
790 NI K i b= JEETHRIIEFE 38.667
791 SRS TR ;‘%IKEWI\I%%-‘@FX 47.667
792 X)X E R E LWEREERE = 42.833
793 Xt B BRiR & Mg —FHLEf= 41167
794 XGRS Z8a SETE/\FE 43.667
795 Xy B dE=m JEEm ERIIFRZFE 46.333
796 XU AR R CREEgs BRE B FEK = 43.333
797 X 2% WLZRE ShmELFE 38.333
798 XHE MR KibmrmiEhE 42.667
799 Xl = RS LU?‘Eé s OE _hE 47.167
800 X EE A EUSNEIESLE R 33.333
801 X MRS MRS L= 47.167
802 X {F 787 El}ll—é PRER T SEIE SN E 1B AR 44,000
803 X s e EMEL RS 42.333
804 XI5 =NE KEINEEFER 45.167
805 iu*iﬁ% /Eﬂf'ﬂé ABHT = 47.333
806 ESE] WwmES BEEAEMNE—FF 38.167
807 X ZE K REEI=h=l NEREEFTETVEAGRASE=HhZF 48.333
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808 X ZE % WLZRE FEEESREE 43.333
809 X252 UTR LBHT S 45333
810 X ZE5F REEI=h=l NEGIETETVERAGRASFE=HE 33.833
811 X CREEgs mMLESHE % 45,500
812 X 4& BH HEE "Y/'l\ D RHfE 44.000
813 S0 UTE LBHTE 438.333
814 X EEE LTE M E = 47.500
815 XK [ &8 P IhE—H= 44.500
816 X 4F4E BER wBEIMEAZEFZ 43.167
817 X|FF R E LWEREESEATLEHZ 43.667
818 X £ dt=H Z‘E:ltJﬁi,Bj(—T—WEEP—?ﬁHIZEI—?—& 42,000
819 Xl & 7 PNk z:T‘aééﬁLu — 46.333
820 X E 1 WZRE MEEE—HZF 42333
821 XEN, E=PIES PRER T SEIE SN E 1B AR 41.500
822 X 2 £ IAE BLRm **_+j1¢sc(%‘¢% 42333
823 X HnHE dEE BHEEERE 45333
824 X 7= M5 EE STEEAHSREBE 49.167
825 X1 &5 38 XED REME—HFFEEEBFER 39.500
826 XFE LZRE ME%‘%E&FE%—EP%& 42833
827 X EEE WLZRE LRSS — 41.833
828 X Hri%E wmES WmEE= Hﬂfﬁ% —rh 46.500
829 X KR H HEE K pER S 45833
830 X BE=E CREEgs LMK E _FF 46.000
831 Xz X IE TR RN ERS 44333
832 Xz 35 P T‘ﬂa MSEAFHERZ 39.333
833 X TEf k=) ST E=LEFE 47.167
834 X AR HNTE R 39.500
835 PR e HB#EB T 5A L A= 37.167
836 X B2z PIES =R GES 47.500
837 PUEE|S BRiR & e IE—FhE 41,000
838 X £ 5% dEE IEtEETAFHNERS 46.500
839 X F & dtsEm EEm+—%K 48.167
840 eSS R E RS 41.333
841 I B4 R E WEREERETAPZFE 49,500
842 o] EEs BElIAFHELEHRZ 42167
843 =)= dt=H IEFETAKFHEFE 49.167
844 J=E3: tx=H EtEIEAFHERZ 42.167
845 PEE dEE HREF T — = 43.833
846 Jali=y Hia KBETE—HF 43.000
847 AlgE XED BEHKRKZFHNEFE 43.833
848 S8k tx=Td EtEmERERE 45,000
849 ST UTH AETERSRTF 44.667
850 £ Bk Iha BRI e AFHERZE 40.500
851 fEZRSE t5Em EsC Xz 45,500
852 [EE! MIE AT RFHEFRE 40.333
853 it B 1 Urea S PH kR LIS = 42333
854 s 588 SR EAFHELLE P 41.000
855 RS MIE IR EEHRE 48.500
856 Fif: SR i ) AhBEAR—HE 44500
857 Fhi = =M =R 43.500
858 Fit: Z53 [ PHEREX HENSEAF BN P 38.667
859 R EERS HiRg it KRZMERZ 35.500
860 BESR B UTE T e KFHERZE 44500
861 BEF Ahra A BEIESRTF 46.000
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862 S MIE BHITFSREE 46.500
863 ERE WERE XEH—H 40.000
864 YEE D) IAhEESRFE 42333
865 Z £ &S TERTmE R 44833
866 SR R E LWERESEBEALFF 49.667
DTN =S =4 " SH A s
867 gl_-:'é-_ig\: IEJ”% EX%BIEJ %ﬁlzﬁkgl\ﬁé));;jlz)(%ﬁkﬁﬁgl\ln 7—*)( 48.000
868 TEE S ANETETAFFR 41.000
869 T ES Ev NI FEERTREARILIFER 32.833
870 TER HEE Kb mEmEE 42 667
871 S5 AIE AIEaMNEE 43.833
872 5 XE des SEEmE—F=F 41.833
873 THH PN AIEH AIEE —Fhx 44333
874 TEE [ R8 EHIFEAFZEFF 48.500
875 LS Z8a SEmE/N\FE 47.833
876 TNF k) B EmINEEFER (JL#iRX) 47.333
877 TR LR Bt T RiEE kB aNE TINEEFR 42,000
878 TEE Ig IR R E 46.500
879 TR dtEm EtETE—A~AFF 43.667
880 S IrE TR RN ERS 39.500
881 5K AEIa AEKFE—H=F 40.000
882 S IKE ke k=] B BHINEE R 34.000
883 XEs b E HXTE—FhFE 46.667
884 RIS MIER Bt T RiEE kB aNE TINETEFR 41.167
885 I%IY [ &8 RN ENE R 45.167
886 =EcE dEE AREREFE 41.833
887 2ER MR BEEZSNEZR 40.667
888 S5k 1E dt5Em tEmERRZF 38.667
889 SfEM UTE HERTEEFE 39.333
890 B WZRE R OE—p= 46.000
891 =X =M IEETmE_FF 49.500
892 S1H1E MIE AT BTN S R H S 46.833
893 =VEhE: CREEge FXETEEXKIEF S 47,667
894 ST =M EtHEIEAFHERZ 42.500
895 SR XED REME_—_THZF 47.167
896 o UTR TR IEAZMEFZ 48.000
897 OrEE R T EUSHE B E 46.167
898 OxRE AIE AT EEMNE —hs 43.000
899 Ok dt5Em %&k%ﬁﬂﬁﬁlﬂ% 39.500
900 Ol PNk ABCINE el 30.333
901 ENE E=PIES BB mNE = 46.500
902 IR JEER™ EtEmE—Lt—H=* 48.333
903 EEN 588 SR EAFHELLE P 42.333
904 YR 51%51%‘ PN E s 47.333
905 I B T8 LBHTE T 47.333
906 OFE %Eé ﬂ%tlﬂfé 41.333
907 O151E tx=Td BTN 4= L B — & 35.333
908 o7 JE=H dt=H "I'_':r'—7§£ 43.833
909 OhZ SRR B BHINEE SR 46.000
910 5 EER R UJ?EJFﬁ,aksLBﬁJ:EP‘;-‘é 36.833
911 = des ARETE L 46.167
912 ENSE dE=m IEEHELFRFE 44.667
913 O kek RS UJE-E?L%AHEé 48.167
914 T2 N KEDLEhE 42.000
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915 OI&IR JEEH EEFIMFEZLNE—FE 41.667
16 1 ) IR EHIEAZIE R 47.167
917 O£ JEERH tEmEYXE —F= 35.500
918 RN WERE I RIS AR 46.667
919 EBAR WIE AIRFHREFRE 46.167
920 EZR UTR TR hE 47.167
921 EEE dEE ARETEN+ _F5 39.167
922 ELf dt5Em tRH=EF—mh 48.000
923 HBALEY REEI=h=l BITELRE 40.667
924 MR MIE AT REE R 39.333
925 WS bR THEF—HhE 38.500
926 S [ &8 [ NHEZFE 50.000
927 = & WEE FOXNTHE—FRF 46.000
928 =2 bR EmEEedHFF 48.000
929 Fla dt5Em EtEELZER 50.000
930 ZER EWIg hEmEEFRE 42333
931 ZHES WLZRE IJJ?F\'é‘;E%AEJﬁ-ﬁ 42.000
932 =I6E R E LWEREERE—HZF 47.167
933 HT K dEE EﬁEFﬁ%—EP‘;—‘é 45833
934 EA ENIA MIRETE—FFK 37.500
935 K= E=PIES BRERT L INENEER (FIX) 46.500
936 Ea HIEE EHTEALRE 48.000
937 HEX BEE BOME—HF 44333
938 a1 MRS SR EHEOBEE ip s 45.000
939 ERAn dEE —umE_HE 46.167
940 BEA£K Hig x 7K rﬁ%—ﬂié 41.333
941 2 it ¥ R E IWREHRBE —F=% 46.333
942 05 PN EHHE—FF 45333
943 BEq UTR TP ELERERFTHK 43.667
944 e & £ 31 E=PIES BERSNERE AL 43.500
945 Y= EPIES ERFE INEEFRERE M ER S 50.000
946 RE LR EHhFEAFZE—IMEFF 47.000
947 HEFEX t5Em IEEXFHERZFE 40.333
948 e AIE AIRFHERS 46.833
949 Sk tx=T ItEKXFMEFRZFE 43.167
950 ZHED SRR ’EVEFE%—EJ%- 40.333
951 SR R WEREEEEATARE 48.500
952 EEW JEEH thK—Y—BﬁEEF‘—Y— 49.167
953 TR YR MIRETE=FFK 43.667
954 TR JEXT EtEFE=—1+FE 45500
955 G+FF dt5Em FEARXKFHNERZ 46.667
956 H£XE 588 SR e RFHELERZ 45667
957 422K Z8a EAE—7x/\ 40.667
958 4S5k ke k=] EHETE—aRFF 438.333
959 KK BH S =Ea R RR R 44.000
960 RS2 )‘—?Eé RN ENE R 50.000
961 FEEG EWIE MIRETE—FFK 42.167
962 HEETT >ﬁ,Ié EHINEEFR 48.000
963 R I IBSERFHER S 41.333
964 R R MEEK P mE—FRE 38.333
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1878 SIS HIEE HOXINEIBFR 40.167
1879 EB i AR T BN S 2R = 49.000
1880 s KT FRTE/N\FER CaltRX) 44.000
1881 EER */u D) RIeXZENERTFHE 47.500
1882 [E 2% A EEME—HF 41.500
1883 Ja’z*fpt, A EHMELT P 45.667
1884 EER dt5Em dEEm RIIHRE 46.500




Fs Ha aXxE% EE? =Y
1885 Ems dtsEm dEEm RIIHRZE 45,500
1886 BAxRE e BTN FR 44.667
1887 [E$5EH E=PIES BET S XTI RFE 42.667
1888 IEEEN E=PIES AR SEEE N ENB AR 47.833
1889 EghiE dt5Em tEIMEAFHNESXEFF 45,000
1890 ERIR AhE IABETIHRE 44.333
1891 ERE IrE B EmINEEZER (JL#RX) 47.667
1892 B R 35 AIE AIEZRERZ 44.500
1893 EEIS TR FIERME R 46.333
1894 EESS b= tERmE=FFHAPF 46.000
1895 JEI 3 JEEH EtEXZHREFE 44.333
1896 EA HEE KA 40.333
1897 EKRLT tx=T EtRIeXRFE_WEFZE 43.000
1898 & K SIAE PNAZHREFZRITHK 48.833
1899 BEXF =) TEREFFE (RIPRX) 48.333
1900 IEE30 tx=H JEEHE—O—r= 45.000
1901 EE#S EE HMNTENSREF 40.833
1902 EESE HEE Kb mEmEE 39.000
1903 JE B B HEE KA 33.667
1904 EEES E-lNut] BRLWINEIEFRR 38.833
1905 EWK IhR BRIBEAZREFZF 42.833
1906 JEI TR R E ST ERXEBULHE 41.833
1907 JE—&g dtsEm Hal e XZHEFRF 46.333
1908 EER TR LBHTE 48.167
1909 ELR 4 BEE O mIRL e 36.833
1910 IEES: EWIE FFRRTRERE 47.833
1911 EIES dt5Em EEMmE—FS—H=F 42.500
1912 B&E ERUN) EMEL R 40.167
1913 EBE S BRI eAFHERZE 47667
1914 B0 HEE IS KFHEFE 44.833
1915 EIER dt5Em EFEINEE K FE M E R 45333
1916 B [ kB RKX [ PAEMN L BNz 44.667
1917 B HIEE HNTE AR 47.167
1918 BEFfE MRS LWEREERE—HF 42.667
1919 B dtsEm FEtEETITAFHNERS 42833
1920 EE2N yIdEE HREF T — = 41.167
1921 B =Ea ZHEAFHETZERER 41.333
1922 ERaan A Kb AL E SIS R 41.833
1923 KA BER EtEXZEHREFEEOFK 48.333
1924 KX R WRESEERT/\FF 48.667
1925 R IEHH =) TEREFFE (RHRX) 46.167
1926 EES R E IIREENE = 36.833
1927 R AE dt5Em EtEmE—Lt—H=F 47.167
1928 KEM e EILBE 46.500
1929 REY MRS KEmHRE—HhE 40.167
1930 E 30 )& I EEHEP S 41.833
1931 K515 tsEm EEmE =Rz 47.667
1932 K SR AT AT EMME A ERGERX 45167
1933 KRR HiRg = MEKFZF 34.167
1934 KEE E=PIES BAEST LR ANEIE R 43.083
1935 KINY ElNur] EEAMEL/\FF 43.667
1936 REF =) TR THREEHRE 47.833
1937 KEW EE FBMINETE LR 40.667
1938 K—al dt5Em dEEm RIIHRE 39.833




Fs Ha aXxE% BENl Fh 2 =Y
1939 KIETE JEEH EtRIMSeRFE_HWEFZE 47.667
1940 Rl tEH PONGEETES A 38.500
1941 KEHE tx=H EtEmE /R 47.667
1942 KE PIES AN ETE AR 42.833
1943 SRALIR I mMTEMS R T E 47.333
1944 KEER ZHE ST ENNFFE 47.833
1945 1% B0K HIE TR THREEHRE 47.167
1946 FLER A BES wBEIMEAZMEFZ 45.833
1947 L MRS LWEREESERTH/\HZ 49.000
1948 FLAER =) EXTE—HE 47.000
1949 PLFEER HIEE HOXINEBFR 46.500
1950 = I MMNFEFRE (ZEERKX) 45.500
1951 AR PNk LN E—F 47.833
1952 EREST HEE HEEMETE—HF 40.833
1953 AR ~7 5F NEET=h=l EMEEREE—FZF 38.500
1954 | 4p3kZ=T] E=PIES AR SRR SN ENE FE L 46.833
1955 ENAlT =M BYHETRFE 47.500
1956 PRZE =M FEE = 45.333
1957 —1E ST FBHINETBFR 47.000




